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Doplň vazbu There is / There are a věty přelož:
_______________ a cat in the street.               ____________________________________
_______________ five apples on the desk.     ____________________________________
_______________ a board on the wall.           ____________________________________
_______________ ten glasses in the kitchen. ____________________________________
_______________ books in my bag.                 ____________________________________
_______________ eleven boys in our class.    ____________________________________
Připoj slovo ke správné možnosti a řekni jej v množném čísle:
girl												woman
man						-s						dog
watch												pen
child						-es						toothbrush
box												person
book					nepravidelný tvar			chair
pencil												orange	
glass												mouse
Vytvoř množné číslo:
a cat			―>		two 		_______________		
a box			 ―>		four		 _______________
a man			―>		three		 _______________
a person		―>		two		_______________
an orange		―>		two 		_______________
a book		―>		five		 _______________
a toothbrush	―>		three		_______________
an umbrella		―>		four		_______________
a glass		―>		two		_______________
a mouse		―>		six		_______________
Oprav chybné věty:
1. There is a child and a dog.	
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______________________________
2. There is a watch.   
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______________________________
3. There is one toothbrush. 
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______________________________
4. There is a woman.
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______________________________


5. There is one mouse and one cat.
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______________________________
6. There is an orange and an apple.
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______________________________
7. There is a box.
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______________________________
8. There is one chair.
[image: ]
______________________________
Doplň vazbu There is / There are a věty přelož:
____There is____	a cat in the street.               _____Na ulici je kočka._________________
____There are__	five apples on the desk.     _____Na stole je pět jablek._____________
____There is____	a board on the wall.           _____Na stěně je tabule.________________
____There are__	ten glasses in the kitchen. _____V kuchyni je deset sklenic.__________
____There are__	books in my bag.                 _____V tašce jsou knihy.________________
____There are__	eleven boys in our class.    _____V naší třídě je jedenáct chlapců._____
Připoj slovo ke správné možnosti a řekni jej v množném čísle:
girl												woman
man						-s						dog
watch												pen
child						-es						toothbrush
box												person
book					nepravidelný tvar			chair
pencil												orange	
glass												mouse
Vytvoř množné číslo:
a cat			―>		two 		___cats___________			
a box			 ―>		four		 ___boxes_________
a man			―>		three		 ___men___	_______
a person		―>		two		___people_________	
an orange		―>		two 		___oranges________
a book		―>		five		 ___books_________
a toothbrush	―>		three		___toothbrushes___
an umbrella		―>		four		___umbrellas______
a glass		―>		two		___glasses_________
a mouse		―>		six		___mice___________
Oprav chybné věty:
1. There is a child and a dog.	
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    There are two children and a dog.
2. There is a watch.   
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    There are two watches.
3. There is one toothbrush. 
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    There are two toothbrushes.
4. There is a woman.
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    There are three women.   


5. There is one mouse and one cat.
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    There are three mice and three cats.
6. There is an orange and an apple.
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   There are four oranges and four apples.
7. There is a box.
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    There are four boxes.
8. There is one chair.
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    There are two chairs.
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